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o FUT TG F T FF 5 I9T-79 § GRT 7 16 79 797 35 &
Please make sure that the printed pages in this question paper are 16 in number
and it contains 35 questions.

o Jo7-7H ¥ e & @ G T T8 FS TEY T § H OH FI-Ykaw F FEI-g8 9T
el

The Code No. and Set on the right side of the question paper should be written by
the candidate on the front page of the answer-book.
o FYF J9T FH TV TG J& V7§ Yeer, J9T B B AT [T
Before beginning to answer a question, its Serial Number must be written.
o FUT-YitTHE & = H @l §,/9 7 881
Don’t leave blank page/pages in your answer-book.

o FTT-GRam & RFT FF T e Te A g sravaEagar & @ G fiar Faw T
#IC]

Except answer-book, no extra sheet will be given. Write to the point and do not
strike the written answer.
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(2) 1231/(Set : A)
o TUETE U AT To FT-UH T Haed [i@ Wl To F HARFT FIT-YH G I FE A T
frd sit dmfoqs g9t & Rl q¥ el J@re @7 9T T g

Candidates must write their Roll No. on the question paper. Except Roll No. do not
write anything on question paper and don't make any mark on answers of objective
type questions.

o U F97 % T 37 @ {4 F GElEd FY @ [ Fe7-0F {7 T 78 8, e # I 59
T 7 g o qrar w&hHe T8 A aam

Before answering the questions, ensure that you have been supplied the correct and
complete question paper, no claim in this regard, will be entertained after
examination.

A R -
(i) & g7 ST &
(i) 3T F97-97 7 %7 35 757 &, of Giq @7 - A, §, W, T 7 A F w8

(i) & -9 71T 18 T TGI8 J97 &1 J&9% 797 1 ST F &1

(v) &€ - § H J97 G& 19 @ 25 7% Sa-TgHITE Jo7 &1 Jo4% 597 % 2 5% &

(v) @ - T T97 G 26 § 30 T TEAIHE J97 &1 J9% J97 % 3 3% &
(i) &Y€ - T T g97 g7 31 TF 32 [FF ST F97 81 JAF 9T F 4 37F &
(vii) @Y - J F 797 T&q7 33 @ 35 T& FF FTNHF J97 &1 F9F F97 & 5 3% &1

(viii) @8 - § T T TP G 597 7 07 U - T FH 57 F IRF [AHeT T 8
3 g9 # @ el & 7 g 7 @ Faq OF & 997 HA &)

General Instructions :

(i) All questions are compulsory.

(i) This question paper contains 35 questions, which are divided into five
Sections : A, B, C, D and E.

(iii) Section - A contains 1 to 18 objective type questions. Each question carries
1 mark.

(iv) Section — B contains question numbers 19 to 25 of very short answer type
questions and carry 2 marks each.

1231/(Set : A)



(3) 1231/(Set : A)

(v) Section - C contains question numbers 26 to 30 of short answer type
questions and carry 3 marks each.

(vi) Section — D contains question numbers 31 & 32 are figure based questions
and carry 4 marks each.

(vii) Section - E contains question numbers 33 to 35 are long answer type
questions and carry S marks each.

(viit) Internal choice is available in two questions of Section-B, C and D and all
questions of Section-E. You have to attempt only one of the given choice in
such questions.

qug - A
SECTION - A
1. LH (Toes) 68 W % & 8 ? 1
(A) T IR (B) Wkl RN
(C) (A) X (B) I (D) Tt
LH acts on :
(A) Leydig cells (B) Sertoli cells
(C) Both (A) & (B) (D) Spermatogonia
2. &l § 9y 1 g/ SF-|1 S wfed B 8 7 1
(A) LH (B) FSH (C) offdafem (D) I |+
Which hormone is secreted by Pituitary gland in human female ?
(A) LH (B) FSH (C) Oxytocin (D) All of these
3. fr=fofed & & ®F-a1 50 & TR 787 e ? 1
(A)  SfeERREr (B) eTEfgam (C) = (D) dreX-feren
Which of the following is not pollinated by water ?
(A) Vallisneria (B) Hydrilla (C) Zostera (D) Water-lily

1231/(Set : A) P.T.O.
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4. viosEe P9 W B 8 7 1
(A) mRNA (B) tRNA (C) rRNA (D) DNA
Anticodon is present on :
(A) mRNA (B) tRNA (C) rRNA (D) DNA

5. WM e sEgeM Sdi § dEcEM § de1 8 © ¢ 1
(A) 1 (B) 2 € 3 (D) 4
By how many hydrogen bonds guanine is bonded with cytosine ?
(A) 1 (B) 2 € 3 (D) 4

6. F=fad & & HIF-81 ARTIT UrefiiRs] TEEHA ARTAT (rRNA) (28s, 18s  5.8s) &l
ST &Y & 7 1
A) 1 (B) 1I (C) II (D) T8 q Hiz &
Which of the following RNA polymerase transcribes rRNAs (28s, 18s & 5.8s) ?
A) 1 (B) 1I (C) I (D) None of these

7. U & SITAT § 15% WRAHH 21 369 fhae sided g Enl ? 1
(A) 15% B) 25% (C) 35% (D) 45%

A double stranded DNA has 15% cytosine. What will be the percentage of
thiamine in it ?

(A) 15% (B) 25% (C) 35% (D) 45%

8. frfoiad & @ & agHsd Ege B REdigd BT Tl o 1
INERSIE (B) WET® (C) dffewaar (D) ¥ gl
Which of the following can fix atmospheric nitrogen ?
(A) Anabaena (B) Nostoc (C) Oscillatoria (D) All of these

9. frfeied & & & A & Bl (TReEETd) & Wer 8 ? 1
(A) e (B) &4 (C) e Ais (I®) (D) I &

1231/(Set : A)
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Which of the following is reservoir of Erythrocytes ?

(A) Spleen (B) Heart (C) Lymph node (D) All of these

10. fF 018 & WRAEEHYT TSl HRE & 7 1
(A) @R (B) urifEm (C) fefemm (D) FH & &5 T
Pollen grains of which plant cause allergy ?
(A) Coriander (B) Parthenium (C) Triticum (D) None of these

11. FF-8 S 39 N H HTTE FWA 8, SN TR BF Bl R B & ? 1
(a) w3 1TE (B) %R II TS
(©) (A) T (B) A (D) R I Tl
The proteins encoded by which gene control corn borer ?
(A) CryIAc (B) CryII Ab
(C) Both (A) & (B) (D) CryIAb

12. HF-91 FRE & 7 1
(a) 9T (B) & Pier
(C) iR I iR ISl (D) ¥

Which is a dipteran ?

(A) Beetle (B) Army worm
(C) Tobacco bud worm (D) Mosquito
13. -9 57 &g Y& H A8 ? 1
(A) TG THR T (B) Sg &
(C) T T (D) & § Fig &

1231/(Set : A) P.T.O.
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Which is a part of in situ conservation ?

(A) Wildlife Safari Park (B) Zoological Park
(C) National Park (D) None of these

14. TR GHEN SR FreT Aual e IRER® BRm & 38 § 7 1
(A) eI (B) e
(C) UXsifaar (D) EEGEHIRaT

Interaction between sea anemone and clown fish is an example of :
(A) Commensalism (B) Competition

(C) Parasitism (D) Mutualism

797 G&4r 15, 16, 17 07 18 7 G- 397 T T & : SifeT (A) ST #7 (R) 79 RY 7@
JYGHT [%cY] T =TT H0d §T 97 % IV &g
The question nos. 15, 16, 17 & 18 given below consists of two statements each :

Assertion (A) and Reason (R). Answer the questions by selecting the appropriate
option given below :

15. ARERE (A) : AT WA Scahar 9bd MAHs Scahar 9 It & B 1
HRT (R) : AT AIHE ICRHAT H 6 AFT 9969 & QN SR &l Sl 8l
fopeT
(A) ST (A) X BRI (R) AMI T & a1 SR (R), SIRHE (A) 3 98l are 2l
(B) IR (A) AR HROT (R) SMI € & g &RV (R), HAHRIT (A) H TeI e Tel
2|

(C) IR (A) § & W= BT (R) 36 ol
(D) SIR1FEE (A) Td BRI (R) A1 & 316 2

1231/(Set : A)
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Assertion (A) : Net primary productivity is greater than gross primary

productivity.
Reason (R) : A part of net primary productivity goes waste during respiration.
Options :

(A) Assertion (A) and Reason (R) both are true and Reason (R) is the correct

explanation of Assertion (4).

(B) Assertion (A) and Reason (R) both are true, but Reason (R) is not the

correct explanation of Assertion (A).
(C) Assertion (A) is true, but Reason (R) is false.

(D) Assertion (A) and Reason (R) both are false.

16. SIEHIA (A) : 35T TF SMUsiizgd ol 1
FHROT (R) : 2 didt () & 9 & 9T Sie
forpeq

(A) SIRrEwEE (A) 3R HROT (R) AMT T & T SR (R), SIESH (A) & 9 & 2

(B) SIRREA (A) AR FRO (R) 3T T § Tg BR (R), AFHT (A) B eI aren Tel
2l

(C) IR (A) § & W=j BT (R) 36 ol

(D) ST (A) Td HROT (R) IS & T8 2

1231/(Set : A) P.T.O.
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Assertion (A) : Heroin is an opioids.
Reason (R) : Heroin is obtained from Poppy plant.
Options :

(A) Assertion (A) and Reason (R) both are true and Reason (R) is the correct

explanation of Assertion (4).

(B) Assertion (A) and Reason (R) both are true, but Reason (R) is not the

correct explanation of Assertion (A).
(C) Assertion (A) are true, but Reason (R) is false.

(D) Assertion (A) and Reason (R) both are false.

17. SAHHEE (A) : 519 W Bl JHIA JTaNST et & e & gl 1
HROT (R) : Sg Neanfia § ity dieee & qifsa Redt @ e ug fauern & B
o
(A) SIRmEwET (A) X HROT (R) AMT T & T SR (R), SIEH (A) & T & 2

(B) SIRREA (A) 3R FRO (R) 3T T § Tg BR (R), AFH (A) B el aren Tel
2l

(C) IR (A) § & W=j BT (R) 36 ol

(D) SIR1FET (A) Td BRI (R) A1 & 36 2

1231/(Set : A)
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Assertion (A) : Biotechnology started with development of recombinant
molecules.

Reason (R) : Biotechnology mostly involves in cutting & pasting of desired parts
of DNA.

Options :

(A) Assertion (A) and Reason (R) both are true and Reason (R) is the correct

explanation of Assertion (A).

(B) Assertion (A) and Reason (R) both are true, but Reason (R) is not the

correct explanation of Assertion (A).
(C) Assertion (A) are true, but Reason (R) is false.

(D) Assertion (A) and Reason (R) both are false.

18. R (A) : TEXHIT T TR P UESrEl § off SRR & SR 9 g Hifdmeeett g
fafifa 2ar 2 1

PR (R) : 3TTHUA 91T & ©&F W G S A0 B &
ferepey -

(A)  AREE (A) 3R HROT (R) AMT T & T SR (R), SIHHT (A) H &l e 2

(B) SIRREA (A) AR FRO (R) 3T T § Tg BR (R), AHT (A) B el aren Tel
2l

(C) SIRHEA (A) §@ & Wy &RV (R) 96 3

(D) ST (A) Td BT (R) IS & T8 2
1231/(Set : A) P.T.O.
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Assertion (A) : Interferons are a type of antibodies produced by bacteria
infected cells of the body.

Reason (R) : Interferons stimulate inflammation at the site of injury.
Options :

(A) Assertion (A) and Reason (R) both are true and Reason (R) is the correct

explanation of Assertion (4).

(B) Assertion (A) and Reason (R) both are true, but Reason (R) is not the

correct explanation of Assertion (A).
(C) Assertion (A) are true, but Reason (R) is false.

(D) Assertion (A) and Reason (R) both are false.

gug - §
SECTION - B

19. &9 foiT Hemes iewel & M g 2

Name various male sex accessory ducts.

20. FEIPM (TYwiss) fF8 Fad & ? 36& Hs & Saedvl [y 2

What is Aneuploidy ? Write any two example of it.

21. S¥F GRSl T B AH AR 366 39 HERY T % 39 § 71 A o 7 2
Name first transgenic cow. What is the advantage of its milk over natural cow
milk ?

1231/(Set : A)



(11) 1231/(Set : A)
22. UF 85 § Jafafaear & v d Fr u9e 8 2 7 2

What is the impact of loss of biodiversity in a region ?

23. RS U9 ST 1 Bl & ° 2

What is detritus and decomposition ?

24. R TEE 9E69 B PR T 8 7 2

What are the reasons of rise in our population ?

YqT

OR

=T dfer e SRSl & W ffaw A B seR e § qer ©

Name various copper releasing IlUDs. How do these help in contraception ?

25. YT T % B0 & AR doa &9 7 9ol S 81 36D AR HAER H AT FM & ! 2

What is the genetic basis of proof that codon is a triplet and is read in
contiguous manner ?

AYAT
OR
AUG &1 &0 %@ #1 8 ?
What is the dual function of AUG ?

1231/(Set : A) P.T.O.



26.

27.

28.

29.

30.

(12) 1231/(Set
s - g
SECTION - C

Teh T & YOT & AIIRY IS T AHiihd o 15T |

Draw a well labelled diagram of L. S. embryo of a grass.

HARTAY Ui 1, 11, 11 & hrd e
Write down the role of RNA polymerase I, II, III.

TRl # TRl & few O ST @ Aoy Attt @ e ?
What are the important defence mechanisms in plants against herbivory ?

e uen & fafis A & aR § fafaw

Write about various barriers of innate immunity.

3TeE
OR

e & SANT & BERE TG F1 B § 7

What are the harmful effects of using tobacco ?

ST F fAfire Wt W) 59 T Hrer S gt § 7

How can DNA be cut at specific locations ?

STeE
OR

Sig-EiE & @7 e STgHa &5 B9 § 7

What are the three critical research areas of biotechnology ?

1231/(Set : A)
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gls - g
SECTION - D

31.

A f2 —» Water out

Condenser
«—Water in

Water drop

Liquid water in trap

PR & AT & SWied o &1 afgn iR Frefofed wet & S i
See the above diagram of Miller's experiment and answer the following questions :

(i) 9 IREET B TRy FE R 9 W Ry U des @i gerdar @ e § RS
H B T TRl 2

State the hypothesis which Miller tried to prove in the laboratory with the
help of setup of experiment given above.

AYqT
OR

= WA | BiF-HE-d N9 T § a6 7

Which gases were used in this experiment ?

(i) fE ad § R = g8 sy fear ? 1
In which year Miller performed this experiment ?

(iii) SN B TA P qE XA A T & 3@ T PE+b AN BT AW 1
Name the organic compounds observed by him in liquid after running the
experiment.

1231/(Set : A) P.T.O.
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32. QTR & TR0 B Th oS daed e R @ 31 599 gaag e gt
% JA¥ 4T -

Schematic representation of the steps in PCR is shown below. Answer its related
following questions :

=)

b
+ deoxynucleotides

() AR D =Rl % M SR 1
Name the step of A and D.
(i) TSR #1 FE FA T 7 1
What is the functions of PCR ?
(iii) B @ TeaT AR IqH TAEND ©F 0 2 7 2
Identify B and what is its chemical nature ?
9T
OR

CHFN e ? I8 %9 g ¥ urg &ar 2 ?

What is C ? Name its source organism.

1231/(Set : A)
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gog -
SECTION - E

33. AMA ¥ JHAS & S § ATl (FFACY) T BN AW URaaH! (SEaral) & e HiT 5

Describe the changes take place from the formation of zygote to implantation in

human.
7T
OR
TR &1 AT X | auie &)

Describe the structure of pollen grain in detail.

34. STVEH IHE F AU B 5

Describe transcription unit.

3TeE

OR

g9a ¥ 9T 99 a9 A emaaa Rt @ g B

Describe various chromosomal disorders found in human beings.

35. = IURI § GEASial bl AR T A hifoig 5
Describe the role of microbes in household products.

1231/(Set : A) P.T.O.
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g

OR
A T USEA & e Sced § GEnsidl Sl R # A S

Describe the role of microbes in the production of Industrial chemicals and

enzymes.

1231/(Set : A)



CLASS : 12th (Sr. Secondary) Code No. 1231
Series : SS/Annual Exam.-2024
Roll No. SET : B

S ICRCEIG]

BIOLOGY

[ Hindi and English Medium |
ACADEMIC/OPEN

(Only for Fresh/Re-appear/Improvement/Additional Candidates)

Time allowed : 3 hours | [ Maximum Marks : 70

o FUT TG F T FF 5 I9T-79 § GRT 7 16 79 797 35 &
Please make sure that the printed pages in this question paper are 16 in number
and it contains 35 questions.

o Jo7-7H ¥ e & @ G T T8 FS TEY T § H OH FI-Ykaw F FEI-g8 9T
el

The Code No. and Set on the right side of the question paper should be written by
the candidate on the front page of the answer-book.
o FYF J9T FH TV TG J& V7§ Yeer, J9T B B AT [T
Before beginning to answer a question, its Serial Number must be written.
o FUT-YitTHE & = H @l §,/9 7 881
Don’t leave blank page/pages in your answer-book.

o FTT-GRam & RFT FF T e Te A g sravaEagar & @ G fiar Faw T
#IC]

Except answer-book, no extra sheet will be given. Write to the point and do not
strike the written answer.

1231/(Set : B) P.T.O.



(2) 1231/(Set : B)
o TUETE U AT To FT-UH T Haed [i@ Wl To F HARFT FIT-YH G I FE A T
frd sit dmfoqs g9t & Rl q¥ el J@re @7 9T T g

Candidates must write their Roll No. on the question paper. Except Roll No. do not
write anything on question paper and don't make any mark on answers of objective
type questions.

o U F97 % T 37 @ {4 F GElEd FY @ [ Fe7-0F {7 T 78 8, e # I 59
T 7 g o qrar w&hHe T8 A aam

Before answering the questions, ensure that you have been supplied the correct and
complete question paper, no claim in this regard, will be entertained after
examination.

A R -
(i) & g7 ST &
(i) 3T F97-97 7 %7 35 757 &, of Giq @7 - A, §, W, T 7 A F w8

(i) & -9 71T 18 T TGI8 J97 &1 J&9% 797 1 ST F &1

(v) &€ - § H J97 G& 19 @ 25 7% Sa-TgHITE Jo7 &1 Jo4% 597 % 2 5% &

(v) @ - T T97 G 26 § 30 T TEAIHE J97 &1 J9% J97 % 3 3% &
(i) &Y€ - T T g97 g7 31 TF 32 [FF ST F97 81 JAF 9T F 4 37F &
(vii) @Y - J F 797 T&q7 33 @ 35 T& FF FTNHF J97 &1 F9F F97 & 5 3% &1

(viii) @8 - § T T TP G 597 7 07 U - T FH 57 F IRF [AHeT T 8
3 g9 # @ el & 7 g 7 @ Faq OF & 997 HA &)

General Instructions :

(i) All questions are compulsory.

(i) This question paper contains 35 questions, which are divided into five
Sections : A, B, C, D and E.

(iii) Section - A contains 1 to 18 objective type questions. Each question carries
1 mark.

(iv) Section — B contains question numbers 19 to 25 of very short answer type
questions and carry 2 marks each.

1231/(Set : B)
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(v) Section - C contains question numbers 26 to 30 of short answer type
questions and carry 3 marks each.

(vi) Section — D contains question numbers 31 & 32 are figure based questions
and carry 4 marks each.

(vii) Section - E contains question numbers 33 to 35 are long answer type
questions and carry S marks each.

(viit) Internal choice is available in two questions of Section-B, C and D and all
questions of Section-E. You have to attempt only one of the given choice in
such questions.

qug - A
SECTION - A
1. TN b eEgo g6 8 aEadN 9 &1 2 g ° 1
(A) 1 (B) 2 € 3 (D) 4
By how many hydrogen bonds guanine is bonded with cytosine ?
(A) 1 (B) 2 (C) 3 (D) 4

2. e § & $H-1 SIRTAT diams TEEEMT STRUAT (rRNA) (28s, 18s T 5.8s) &l
ST &Y & 7 1
A) 1 (B) II (C) I (D) T & Hig &l
Which of the following RNA polymerase transcribes rRNAs (28s, 18s & 5.8s) ?
(A) I B) I (C) I (D) None of these

3. & faXomid STy § 15% AEcEe ol 399 fha dfaed g arft ? 1
(A) 15% (B) 25% (C) 35% (D) 45%

A double stranded DNA has 15% cytosine. What will be the percentage of
thiamine in it ?

(B) 15% (B) 25% (C) 35% (D) 45%
4. frfafad & @ $F agHsd TEgeH B REdgd B T o 7 1
(A) UATET (B) el (C) offfmear (D) I o+

1231/(Set : B) P.T.O.



(4) 1231/(Set : B)

Which of the following can fix atmospheric nitrogen ?

(A) Anabaena (B) Nostoc (C) Oscillatoria (D) All of these

5. ffafed & § &M A & el (eiaEed) & Her 8 ? 1
(A) i (B) && (C) e AiE (I%) (D) I &R
Which of the following is reservoir of Erythrocytes ?
(A) Spleen (B) Heart (C) Lymph node (D) All of these

6. 8 T & W Tooll FXH © ¢ 1
(A) R (B) A (©) fafewm (D) ¥ & g T
Pollen grains of which plant cause allergy ?
(A) Coriander (B) Parthenium (C) Triticum (D) None of these

7. HE-H SN I AIEE B fEds BT o, Sl TaH 8ah dHl AR BT © ¢ 1
(A) 1T (B) R I T
(©) (A) SR (B) A (D) 1T

The proteins encoded by which gene control corn borer ?

(A) CryIAc (B) CryII Ab
(C) Both (A) & (B) (D) CryIAb
8. Hv-ar feRye B ? 1
(A) T (B) & drer
(C) iR I iR bS] (D) ¥

Which is a dipteran ?
(A) Beetle (B) Army worm

(C) Tobacco bud worm (D) Mosquito

1231/(Set : B)



9.

10.

11.

12.

(5) 1231/(Set : B)

DI 57 &g HEOT B AT S 7

(A) TIeIE HER I (B) g &

(C) T JE (D) & & K Tl
Which is a part of in situ conservation ?

(A) Wildlife Safari Park (B) Zoological Park
(C) National Park (D) None of these

I G SR Fre 7odl 6 URER® BhaT &l Iae & °

(A)  TEITar (B) i

(C) USiear (D) GRIueHIAT

Interaction between sea anemone and clown fish is an example of :
(A) Commensalism (B) Competition

(C) Parasitism (D) Mutualism

LH (Toes) fFe T 1 & © 7

(A) TR PifRwEHT (B) Gefel IR
(©) (A) SR (B) A (D) T

LH acts on :

(A) Leydig cells (B) Sertoli cells

(C) Both (A) & (B) (D) Spermatogonia

el § dgu 3 g1 se-a1 & g i § 7

(A) LH (B) FSH (C) offFde™ (D) ¥ &+
Which hormone is secreted by Pituitary gland in human female ?
(A) LH (B) FSH (C) Oxytocin (D) All of these

1231/(Set : B)
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13. fFr=foied & & @F-|1 i @ 9URfa 787 ain ? 1
(A) Afcremi (B) ewEfgam (C) = (D) areX-faret
Which of the following is not pollinated by water ?
(A) Vallisneria (B) Hydrilla (C) Zostera (D) Water-lily

14. Hisepe B W 8 8 ? 1
(A) mRNA (B) tRNA (C) rRNA (D) DNA

Anticodon is present on :
(A) mRNA (B) tRNA (C) rRNA (D) DNA

797 &I 15, 16, 17 07 18 7 G-q F97 Ry 70 & : oif¥merT (A) $iv &9 (R) #F Ry 71
FYgeT [Al FT TIT FXa §Y F9 & Y g -

The question nos. 15, 16, 17 & 18 given below consists of two statements each :
Assertion (A) and Reason (R). Answer the questions by selecting the appropriate
option given below :

15. SIFEHEE (A) : 30T TF SifUsiissd ol 1
FHROT (R) : 2 didt () & 9 & 9T Sie
forpeq

(A) SIRrEwEE (A) 3R HROT (R) AMT T & T SR (R), SIESH (A) & 9 & 2

(B) SIRREA (A) AR FRO (R) 3T T § Tg BR (R), AFHT (A) B eI aren Tel
2l

(C) IR (A) § & W=j BT (R) 36 ol

(D) ST (A) Td HROT (R) IS & T8 2

1231/(Set : B)



(7) 1231/(Set : B)

Assertion (A) : Heroin is an opioids.
Reason (R) : Heroin is obtained from Poppy plant.
Options :

(A) Assertion (A) and Reason (R) both are true and Reason (R) is the correct

explanation of Assertion (4).

(B) Assertion (A) and Reason (R) both are true, but Reason (R) is not the

correct explanation of Assertion (A).
(C) Assertion (A) are true, but Reason (R) is false.

(D) Assertion (A) and Reason (R) both are false.

16. AHHI (A) : 519 W Hl JHIAC JTANST el & e & gl 1
BT (R) : g Nl & offepdy Siuan & qifeq foedl & $e td RIusrn aidr &l
o
(A) SIRmEwET (A) X HROT (R) AMT T & T SR (R), SIEH (A) & T & 2

(B) SIRREA (A) AR FRO (R) 3T T § Tg BR (R), AHE (A) B el aren Tel
2l

(C) IR (A) § & W=j BT (R) 36 ol

(D) SIR1FET (A) Td BRI (R) A1 & 36 2

1231/(Set : B) P.T.O.
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Assertion (A) : Biotechnology started with development of recombinant
molecules.

Reason (R) : Biotechnology mostly involves in cutting & pasting of desired parts
of DNA.

Options :

(A) Assertion (A) and Reason (R) both are true and Reason (R) is the correct

explanation of Assertion (A).

(B) Assertion (A) and Reason (R) both are true, but Reason (R) is not the

correct explanation of Assertion (A).
(C) Assertion (A) are true, but Reason (R) is false.

(D) Assertion (A) and Reason (R) both are false.

17. ARERET (A) : BN TS TR P UEErEl B off SRR & SR @ gsbiva Hifdmeeett g
fafifa 2ar 2 1

PR (R) : 3TTHUA 91T & ©&F W G S A0 B &
ferepey -

(A)  AREE (A) 3R HROT (R) AMT T & T SR (R), SIHHT (A) H &l e 2

(B) SIRREA (A) AR FRO (R) 3T T § Tg BR (R), AHT (A) B el aren Tel
2l

(C) SIRHEA (A) §@ & Wy &RV (R) 96 3

(D) ST (A) Td BT (R) IS & T8 2
1231/(Set : B)
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Assertion (A) : Interferons are a type of antibodies produced by bacteria
infected cells of the body.
Reason (R) : Interferons stimulate inflammation at the site of injury.
Options :

(A) Assertion (A) and Reason (R) both are true and Reason (R) is the correct

explanation of Assertion (4).

(B) Assertion (A) and Reason (R) both are true, but Reason (R) is not the

correct explanation of Assertion (A).
(C) Assertion (A) are true, but Reason (R) is false.

(D) Assertion (A) and Reason (R) both are false.

18. ARHYT (A) : S MAMH IeEhar Hha MAHE Scewd o oI St B 1
HRT (R) : i MAMNS SEHAT PN Th AT 9GHT B QAR SCHRd & A ol
o
(A)  SARmEwE (A) X HROT (R) AFT T & T SR (R), SIEH (A) 3 T & 2

(B) IR (A) AR HROT (R) IMI € & g &RV (R), HAHRIT (A) H TeI AreA1 el
2|

(C) IR (A) § & W=j BT (R) 36 ol
(D) SARFYT (A) Td BRI (R) A1 & 6 &l

1231/(Set : B) P.T.O.



19.

20.

21.

(10) 1231/(Set : B)

Assertion (A) : Net primary productivity is greater than gross primary

productivity.
Reason (R) : A part of net primary productivity goes waste during respiration.
Options :

(A) Assertion (A) and Reason (R) both are true and Reason (R) is the correct

explanation of Assertion (4).

(B) Assertion (A) and Reason (R) both are true, but Reason (R) is not the

correct explanation of Assertion (A).

(C) Assertion (A) is true, but Reason (R) is false.

(D) Assertion (A) and Reason (R) both are false.

gug - §
SECTION - B

Yo RSl T AW e see g H AR 9 S g9 | ' A © 7 2
Name first transgenic cow. What is the advantage of its milk over natural cow
milk ?

T 89 ¥ Safafqgar @ &y & 1 999 2 & ? 2

What is the impact of loss of biodiversity in a region ?

TG TS {9 491 8 & 7 2

What is detritus and decomposition ?

1231/(Set : B)
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22. BN JTEE o9 B PR T 8 7 2

What are the reasons of rise in our population ?

3TeE

OR

ff=T dfer e oEgel & W ffaw A B R e § qeR ©

Name various copper releasing IlUDs. How do these help in contraception ?

23. YT T BF B0 & AR doa &9 7 9ol S 81 36D AR HAER H AT FM & ! 2

What is the genetic basis of proof that codon is a triplet and is read in
contiguous manner ?

T
OR
AUG &l 80 & 1 8 ?
What is the dual function of AUG ?
24. &Y [ Here A & W g 2

Name various male sex accessory ducts.

25. FGIFM (TIise)) fF8 @ed § ? 3@ s @ el [y 2

What is Aneuploidy ? Write any two example of it.

1231/(Set : B) P.T.O.



26.

27.

28.

(12) 1231/(Set :

qe -9

SECTION- C

TH TS T Sl @ AHited o SR

Draw a well labelled diagrammatic view of a typical anatropous ovule.

el uwen & fafis A & aR § fafaw

Write about various barriers of innate immunity.

YqT

OR

g & WA & elveRE S &1 B o ¢

What are the harmful effects of using tobacco ?

gty i fafire Nl W fhE Y @ler S 9T § 7

How can DNA be cut at specific locations ?
AYAT
OR

Sig-EiE & @7 e STgHa &5 B9 § 7

What are the three critical research areas of biotechnology ?

1231/(Set : B)

B)
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29. HRTAT YR 1, 11, 1 & &/ o) 3
Write down the role of RNA polymerase I, II, III.

30. URUl H AHEIRG & 5w W B B TewEq fGrE /& oe e 3
What are the important defence mechanisms in plants against herbivory ?
gug - §
SECTION -D

31. QIR & TR0 B TH oS Saied e REEr W@ 3 5699 geiag e geet
% JA¥ N -

Schematic representation of the steps in PCR is shown below. Answer its related
following questions :

i i S e el v o el B 5
{} Heat (A)

.
TT T T T T 1T 1 I ] |
~

Siga o
R A

(B)

-
+ deoxynucleotides

1231/(Set : B) P.T.O.
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(i) ASI DI % A AR 1

Name the step of A and D.

(i) GefieT ®1 P B ? 1
What is the functions of PCR ?

(i) B I GEEAMT X SHH THEAME &9 R & 7 2
Identify B and what is its chemical nature ?

3Tera
OR

CHFN e ? I8 %9 ofig ¥ urg &ar 2 ?

What is C ? Name its source organism.

32.

Electrodes

==2 —» Water out

Condenser
=2 €4—Water in

Water drop

Water cont
organic com

Liquid water in trap

1231/(Set : B)



33.

(15) 1231/(Set : B)

PeR & S & Sue B @ AR R i ge @ ST i

See the above diagram of Miller's experiment and answer the following questions :

(@)

(i)

(i)

39 GRHeT & SaRt e Bt 7 9 R T Geet & Jerdar § S § S
FT B 9 R 2

State the hypothesis which Miller tried to prove in the laboratory with the
help of setup of experiment given above.

HAYAT

OR
54 AN | - N T § a7

Which gases were used in this experiment ?

fpe ad o firer 3 7 s B ? 1
In which year Miller performed this experiment ?
TN B TAM & 9% XA § I BN 3@ Y HES A B AW g 1

Name the organic compounds observed by him in liquid after running the
experiment.

qug -4
SECTION - E
TG TS PN AU BT 5
Describe transcription unit.
YqT
OR

IMg & UU 9N g [l e f[9eRt @ a1

Describe various chromosomal disorders found in human beings.

1231/(Set : B) P.T.O.



(16) 1231/(Set : B)
34. W IUE § GEASiEl Bl GHHl B a9 i) 5

Describe the role of microbes in household products.
AYAT

OR
WA T USEA & e Sced § GEnsidl i R # A S

Describe the role of microbes in the production of Industrial chemicals and

enzymes.

35. AMA ¥ JHS & S § STl (3FACY) T BN AW URdaHl (SEaral) & v HiT 5

Describe the changes take place from the formation of zygote to implantation in

human.
ST
OR
WRFTRYT &l HXE H1 foeaX & guie it

Describe the structure of pollen grain in detail.

1231/(Set : B)
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BIOLOGY

[ Hindi and English Medium |
ACADEMIC/OPEN

(Only for Fresh/Re-appear/Improvement/Additional Candidates)

Time allowed : 3 hours | [ Maximum Marks : 70

o FUT TG F T FF 5 I9T-79 § GRT 7 16 79 797 35 &
Please make sure that the printed pages in this question paper are 16 in number
and it contains 35 questions.

o Jo7-7H ¥ e & @ G T T8 FS TEY T § H OH FI-Ykaw F FEI-g8 9T
el

The Code No. and Set on the right side of the question paper should be written by
the candidate on the front page of the answer-book.
o FYF J9T FH TV TG J& V7§ Yeer, J9T B B AT [T
Before beginning to answer a question, its Serial Number must be written.
o FUT-YitTHE & = H @l §,/9 7 881
Don’t leave blank page/pages in your answer-book.

o FTT-GRam & RFT FF T e Te A g sravaEagar & @ G fiar Faw T
#IC]

Except answer-book, no extra sheet will be given. Write to the point and do not
strike the written answer.

1231/(Set : C) P.T.O.



(2) 1231/(Set : C)
o TUETE U AT To FT-UH T Haed [i@ Wl To F HARFT FIT-YH G I FE A T
frd sife dafeys 7971 & TR T Frdll ST T 9T T e

Candidates must write their Roll No. on the question paper. Except Roll No. do not
write anything on question paper and don't make any mark on answers of objective
type questions.

o U F97 % T 37 @ {4 F GElEd FY @ [ Fe7-0F {7 T 78 8, e # I 59
T 7 g o qrar w&hHe T8 A aam

Before answering the questions, ensure that you have been supplied the correct and
complete question paper, no claim in this regard, will be entertained after
examination.

A R -
(i) & g7 ST &
(i) 3T F97-97 7 %7 35 757 &, of Giq @7 - A, §, W, T 7 A F w8

(i) & -9 71T 18 T TGI8 J97 &1 J&9% 797 1 ST F &1

(v) &€ - § H J97 G& 19 @ 25 7% Sa-TgHITE Jo7 &1 Jo4% 597 % 2 5% &

(v) @ - T T97 G 26 § 30 T TEAIHE J97 &1 J9% J97 % 3 3% &
(i) &Y€ - T T g97 g7 31 TF 32 [FF ST F97 81 JAF 9T F 4 37F &
(vii) @Y - J F 797 T&q7 33 @ 35 T& FF FTNHF J97 &1 F9F F97 & 5 3% &1

(viii) @8 - § T T TP G 597 7 07 U - T FH 57 F IRF [AHeT T 8
3 g9 # @ el & 7 g 7 @ Faq OF & 997 HA &)

General Instructions :

(i) All questions are compulsory.

(i) This question paper contains 35 questions, which are divided into five
Sections : A, B, C, D and E.

(iii) Section - A contains 1 to 18 objective type questions. Each question carries
1 mark.

(iv) Section — B contains question numbers 19 to 25 of very short answer type
questions and carry 2 marks each.

1231/(Set : C)



(3) 1231/(Set : C)

(v) Section - C contains question numbers 26 to 30 of short answer type
questions and carry 3 marks each.

(vi) Section — D contains question numbers 31 & 32 are figure based questions
and carry 4 marks each.

(vii) Section - E contains question numbers 33 to 35 are long answer type
questions and carry S marks each.

(viit) Internal choice is available in two questions of Section-B, C and D and all
questions of Section-E. You have to attempt only one of the given choice in
such questions.

qus - A
SECTION- A
1. HH-8 SIF 39 G B HITG B &, SN F9H Beh Bl RGBT A © 7 1
(A) % I Tl (B) %M II TS
(C) (A) IR (B) a (D) % 1T

The proteins encoded by which gene control corn borer ?

(A) CryIAc (B) Cry II Ab
(C) Both (A) & (B) (D) CryIAb
2. HH-91 T & 7 1
(A) o B) & e
(C) TS 1 HiCTH HIg] (D) "X

Which is a dipteran ?
(A) Beetle (B) Army worm

(C) Tobacco bud worm (D) Mosquito

1231/(Set : C) P.T.O.



(4) 1231/(Set :
3. PIF-H1 57 Hig GO B A § 7

(A) TIeIE HER I (B) g &
(C) U Iam (D) & q Hig T
Which is a part of in situ conservation ?
(A) Wildlife Safari Park (B) Zoological Park
(C) National Park (D) None of these

4. YA TAAE S FMeT wOdl fhE URERE BT SR § ¢
(A) FERfSE B) @t
(C) TRSilfere (D) HRIGHIRT
Interaction between sea anemone and clown fish is an example of :
(A) Commensalism (B) Competition
(C) Parasitism (D) Mutualism

5. LH (Toud) e T &R &3l 8 ?

() T e (B) wekd e

(©) (A) T (B) A (D) AN

LH acts on :

(A) Leydig cells (B) Sertoli cells

(C) Both (A) & (B) (D) Spermatogonia
6. & ¥ gy W g1 HF-41 & Ffed B & ¢

(A) LH (B) FSH (C) offeEf (D) I |+t

Which hormone is secreted by Pituitary gland in human female ?

(A) LH (B) FSH (C) Oxytocin (D) All of these
7. Fefafed § @ #F-91 99 § WK 787 erar ?

(A)  SfeERREr (B) eTEfgar (C) = (D) dreX-feren

1231/(Set : C)



(5) 1231/(Set : C)
Which of the following is not pollinated by water ?

(A) Vallisneria (B) Hydrilla (C) Zostera (D) Water-lily

8. fiege fhd W B B 7 1
(A) mRNA (B) tRNA (C) rRNA (D) DNA
Anticodon is present on :
(A) mRNA (B) tRNA (C) rRNA (D) DNA

9. MM fha™ RS d4 ¥ TEadN § Sor B g ? 1
(A) 1 (B) 2 € 3 (D) 4
By how many hydrogen bonds guanine is bonded with cytosine ?
(A) 1 (B) 2 C) 3 (D) 4

10. FfaRed & & HF-A1 SRUAT UirRsl TEaamd STRGAY (rRNA) (28s, 18s d 5.8s) &I

ST &Yl & 7 1
A) 1 (B) 1I (C) II (D) T8 q Hiz &

Which of the following RNA polymerase transcribes rRNAs (28s, 18s & 5.8s) ?

(A) I B) I (C) I (D) None of these
11. % f&EH ST & 15% €A & 369 fhaq sfas adi| 8m ? 1
(A) 15% B) 25% (C) 35% (D) 45%

A double stranded DNA has 15% cytosine. What will be the percentage of
thiamine in it ?

(A) 15% B) 25% (C) 35% (D) 45%
12. Frfafed & & @ agHsd ARae & RekEd B @l & ¢ 1
(A) TATEST (B) WEi® (C) offteaRar (D) ¥ &+l
Which of the following can fix atmospheric nitrogen ?
(A) Anabaena (B) Nostoc (C) Oscillatoria (D) All of these

1231/(Set : C) P.T.O.
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13. F=fafad & | &9 o & S (TRedEed) # HeR & 7 1
(a) e B) T (C) Wi s () ) I =
Which of the following is reservoir of Erythrocytes ?
(A) Spleen (B) Heart (C) Lymph node (D) All of these

14. 59 N8 & TR Teoll HLh & 1
(4) R (B) (©) fefem (D) FH & g T

Pollen grains of which plant cause allergy ?
(A) Coriander (B) Parthenium (C) Triticum (D) None of these

797 @& 15, 16, 17 7 18 7 G-§ 97 Ry 70 & : s1f¥eT (A) 3T &R (R) 7 Ry 1@
FYGFT [3% FT TIT FVT §T Fo % TV AT -

The question nos. 15, 16, 17 & 18 given below consists of two statements each :
Assertion (A) and Reason (R). Answer the questions by selecting the appropriate
option given below :

15. ARERET (A) : SEXHIN T TR P UEErEl § off SRR & SR @ g Hifdmeeet g
fafifa 2ar 2 1

PR (R) : 3TTHUA 91T & ©&F W G S A0 B &
fapeq -
(A)  AREE (A) 3R HROT (R) AMT T & T SR (R), SIHET (A) H &l e 2

(B) SIRREA (A) AR FRO (R) 3T € § Tg BR (R), AHT (A) B el aren Tel
2l

(C) SIRHEA (A) §@ & Wy &RV (R) 96 3

(D) ARFYT (A) Td BRI (R) A1 & T8 &l
1231/(Set : C)



(7) 1231/(Set : C)
Assertion (A) : Interferons are a type of antibodies produced by bacteria
infected cells of the body.

Reason (R) : Interferons stimulate inflammation at the site of injury.
Options :

(A) Assertion (A) and Reason (R) both are true and Reason (R) is the correct

explanation of Assertion (4).

(B) Assertion (A) and Reason (R) both are true, but Reason (R) is not the

correct explanation of Assertion (A).

(C) Assertion (A) are true, but Reason (R) is false.

(D) Assertion (A) and Reason (R) both are false.

16. SRR (A) : e WA SEhar Ghd MAHG Scdrahar § S S 2l 1
HRT (R) : AT AIHE ICRHAT H Th AT 9969 & QN SR &l Sl 8l
o
(A) STEEE (A) X BRI (R) AMI T & a1 SR (R), SIS (A) 3 98l e 2l

(B) IR (A) AR HROT (R) IHI G & g &RV (R), AHRIT (A) H TeI e el
2|

(C) SIRFEA (A) §W@ & Wy &RV (R) I8 B

(D) SIR1FET (A) Td BRI (R) A1 & 36 2

1231/(Set : C) P.T.O.



(8) 1231/(Set : C)
Assertion (A) : Net primary productivity is greater than gross primary

productivity.
Reason (R) : A part of net primary productivity goes waste during respiration.
Options :

(A) Assertion (A) and Reason (R) both are true and Reason (R) is the correct

explanation of Assertion (4).

(B) Assertion (A) and Reason (R) both are true, but Reason (R) is not the

correct explanation of Assertion (A).
(C) Assertion (A) is true, but Reason (R) is false.

(D) Assertion (A) and Reason (R) both are false.

17. I (A) : 30T TF SfUsiissd ol 1
FHROT (R) : 2 didt () & 9 & 9T Sie
forpeq

(A) SIRrEwEE (A) 3R HROT (R) AMT T & T SR (R), SIESH (A) & 9 & 2

(B) SIRREA (A) AR FRO (R) 3T T § Tg BR (R), AFHT (A) B eI aren Tel
2l

(C) IR (A) § & W=j BT (R) 36 ol

(D) ST (A) Td HROT (R) IS & T8 2

1231/(Set : C)
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Assertion (A) : Heroin is an opioids.
Reason (R) : Heroin is obtained from Poppy plant.
Options :

(A) Assertion (A) and Reason (R) both are true and Reason (R) is the correct

explanation of Assertion (4).

(B) Assertion (A) and Reason (R) both are true, but Reason (R) is not the

correct explanation of Assertion (A).
(C) Assertion (A) are true, but Reason (R) is false.

(D) Assertion (A) and Reason (R) both are false.

18. AFHE (A) : 519 W Hl LHIAW JTANST et & o & gl 1
HROT (R) : Sg Neanfia § ity dieee & qifsa Redt @ e ug fauern & B
o
(A) SIRmEwET (A) X HROT (R) AMT T & T SR (R), SIEH (A) & T & 2

(B) SIRREA (A) 3R FRO (R) 3T T § Tg BR (R), AFH (A) B el aren Tel
2l

(C) IR (A) § & W=j BT (R) 36 ol

(D) SIR1FET (A) Td BRI (R) A1 & 36 2

1231/(Set : C) P.T.O.



(10) 1231/(Set : C)

Assertion (A) : Biotechnology started with development of recombinant
molecules.

Reason (R) : Biotechnology mostly involves in cutting & pasting of desired parts
of DNA.

Options :

(A) Assertion (A) and Reason (R) both are true and Reason (R) is the correct

explanation of Assertion (A).

(B) Assertion (A) and Reason (R) both are true, but Reason (R) is not the

correct explanation of Assertion (A).
(C) Assertion (A) are true, but Reason (R) is false.

(D) Assertion (A) and Reason (R) both are false.

gug - §
SECTION - B

19. YT TF 3% B & IR §6a &9 H TeT Sl 8| 6% AR STER H F& o # 8 7 2

What is the genetic basis of proof that codon is a triplet and is read in
contiguous manner ?

YqT
OR

AUG & & %8 3497 & ?

What is the dual function of AUG ?

1231/(Set : C)



20.

21.

22.

23.

24.

25.

(11) 1231/(Set : C)
g5y {6 Hews Afiimet & M R 2

Name various male sex accessory ducts.

SR (TgwEe)) Rl @ B 7 Ee @S @ Sare farau 2
What is Aneuploidy ? Write any two example of it.
Yo RSl T AW e see g H AR Y S g9 |’ A © 7 2

Name first transgenic cow. What is the advantage of its milk over natural cow
milk ?

T 89 ¥ Safafqydr @ @y @ 1 999 B & ? 2

What is the impact of loss of biodiversity in a region ?

WE U9 IgeT 47 Bld & 7 2

What is detritus and decomposition ?

BHN SVEE 981 & HRU 1 & 7 2

What are the reasons of rise in our population ?

STeE
OR

=T dfer e TSl & W ffaw A B seR e § qer ©

Name various copper releasing IUDs. How do these help in contraception ?

1231/(Set : C) P.T.O.



26.

27.

28.

29.

30.

(12) 1231/(Set
s - g
SECTION - C

URUE YT BT B Th ARG FEIADT BN THifbe ol =T

Draw a well labelled diagrammatic representation of the mature embryo sac.

Seu & fafire Wl W fhE Y @Ier ST gehdr § 7

How can DNA be cut at specific locations ?

SEE|

OR
Sa-NenfEe & @7 eees EE &5 B4 § 7

What are the three critical research areas of biotechnology ?

HARTAY Ui 1, 11, 11 & g
Write down the role of RNA polymerase I, II, III.

TRl # TRl & few W S @ Aewyqe fafteEr @ e ?

What are the important defence mechanisms in plants against herbivory ?

e uen & fafir= A & aR § fafaw

Write about various barriers of innate immunity.

e
OR
e & SAN & BERE TG FM B § 7

What are the harmful effects of using tobacco ?

1231/(Set : C)

: C)



31.

R & A & Swed o @ Rgr R frfefad gl & SX @i -

(13)
gos - T
SECTION-D

Electrodes

=2 —» Water out

Condenser
== <—Water in

Water drop

‘Water cont
organic com

Liquid water in trap

1231/(Set : C)

See the above diagram of Miller's experiment and answer the following questions :
(i) P9 ad d R 3 98 s e ?

In which year Miller performed this experiment ?

(ii) SERT B TAW B & ARG H D BN @ T HE+D ARTD B AW Ry

1

1

Name the organic compounds observed by him in liquid after running the

experiment.

(il) IE IRHEAT B FARY B e 7 FW [T T Georw &l FeEdar § e § s

HT B JAE TR

2

State the hypothesis which Miller tried to prove in the laboratory with the
help of setup of experiment given above.

YqT
OR

= T | BiF-HE-d 09 s § a6 7

Which gases were used in this experiment ?

1231/(Set : C)

P.T.O.
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1231/(Set : C)

32. QTR & TR0 B Th oS daed e R @ 31 599 gaiag feEfie gt

% JA¥ T -

Schematic representation of the steps in PCR is shown below. Answer its related

following questions :

T T T T T T T T
~

5o e a
o | | TR | 1 1 | 1|1}

-
+ deoxynucleotides

() GER F FE e ?
What is the functions of PCR ?
(i) B % TEEN AR B TEANE BT 5 7
Identify B and what is its chemical nature ?
AYqT

OR
CHFN e ? I8 %9 g ¥ urg &ar 2 7

What is C ? Name its source organism.
(ii) A D =X & T FaARTY

Name the step of A and D.

1231/(Set : C)
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gog - g
SECTION - E

33. = IUE § GEASiEl Gl B AU i) 5
Describe the role of microbes in household products.

e
OR
WEA U U & A I § geHsiial Sl e B avi S

Describe the role of microbes in the production of Industrial chemicals and

enzymes.

34. AMG § AT & S A ST (FFACYE) T 8N ai GRa! (F&aal) & aoi gl 5

Describe the changes take place from the formation of zygote to implantation in

human.
ST
OR
WRFTRYT &l HXE H1 foRaR & guie it

Describe the structure of pollen grain in detail.
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35. MG THE F AU T 5

Describe transcription unit.

3TeE

OR

g9a ¥ 9T 99 a9 Al emaaa Rt @ g B

Describe various chromosomal disorders found in human beings.
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o FUT TG F T FF 5 I9T-79 § GRT 7 16 79 797 35 &
Please make sure that the printed pages in this question paper are 16 in number
and it contains 35 questions.

o Jo7-7H ¥ e & @ G T T8 FS TEY T § H OH FI-Ykaw F FEI-g8 9T
el

The Code No. and Set on the right side of the question paper should be written by
the candidate on the front page of the answer-book.
o FYF J9T FH TV TG J& V7§ Yeer, J9T B B AT [T
Before beginning to answer a question, its Serial Number must be written.
o FUT-YitTHE & = H @l §,/9 7 881
Don’t leave blank page/pages in your answer-book.

o FTT-GRam & RFT FF T e Te A g sravaEagar & @ G fiar Faw T
#IC]

Except answer-book, no extra sheet will be given. Write to the point and do not
strike the written answer.
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o TUETE U AT To FT-UH T Haed [i@ Wl To F HARFT FIT-YH G I FE A T
frd sit dmfoqs g9t & Rl q¥ el J@re @7 9T T g

Candidates must write their Roll No. on the question paper. Except Roll No. do not
write anything on question paper and don't make any mark on answers of objective
type questions.

o U F97 % T 37 @ {4 F GElEd FY @ [ Fe7-0F {7 T 78 8, e # I 59
T 7 g o qrar w&hHe T8 A aam

Before answering the questions, ensure that you have been supplied the correct and
complete question paper, no claim in this regard, will be entertained after
examination.

A R -
(i) & g7 ST &
(i) 3T F97-97 7 %7 35 757 &, of Giq @7 - A, §, W, T 7 A F w8

(i) & -9 71T 18 T TGI8 J97 &1 J&9% 797 1 ST F &1

(v) &€ - § H J97 G& 19 @ 25 7% Sa-TgHITE Jo7 &1 Jo4% 597 % 2 5% &

(v) @ - T T97 G 26 § 30 T TEAIHE J97 &1 J9% J97 % 3 3% &
(i) &Y€ - T T g97 g7 31 TF 32 [FF ST F97 81 JAF 9T F 4 37F &
(vii) @Y - J F 797 T&q7 33 @ 35 T& FF FTNHF J97 &1 F9F F97 & 5 3% &1

(viii) @8 - § T T TP G 597 7 07 U - T FH 57 F IRF [AHeT T 8
3 g9 # @ el & 7 g 7 @ Faq OF & 997 HA &)

General Instructions :

(i) All questions are compulsory.

(i) This question paper contains 35 questions, which are divided into five
Sections : A, B, C, D and E.

(iii) Section - A contains 1 to 18 objective type questions. Each question carries
1 mark.

(iv) Section — B contains question numbers 19 to 25 of very short answer type
questions and carry 2 marks each.
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(v) Section - C contains question numbers 26 to 30 of short answer type
questions and carry 3 marks each.

(vi) Section — D contains question numbers 31 & 32 are figure based questions
and carry 4 marks each.

(vii) Section - E contains question numbers 33 to 35 are long answer type
questions and carry S marks each.

(viit) Internal choice is available in two questions of Section-B, C and D and all
questions of Section-E. You have to attempt only one of the given choice in
such questions.

qug - H
SECTION- A
1. ffafad § & #F agHsad AEgeM & R #X o 7 1
(A)  TATEIET (B) WET® (C) dffeeafar (D) ¥ gl
Which of the following can fix atmospheric nitrogen ?
(A) Anabaena (B) Nostoc (C) Oscillatoria (D) All of these
2. frfafed & @ & A @ Homel (TREET) & 6er 8 7 1
(A) e (B) &F (C) e Ais (I®) (D) I &
Which of the following is reservoir of Erythrocytes ?
(A) Spleen (B) Heart (C) Lymph node (D) All of these
3. fH T8 & W Toll H © 7 1
(A) PIRTST (B) gt (©) fafewm (D) FTH & K T
Pollen grains of which plant cause allergy ?
(A) Coriander (B) Parthenium (C) Triticum (D) None of these
4. HF-H SN I AT B FEAs BT o, S TaH 8ah dHl AR HAT © 7 1
(A) S I TH (B) k1S I1 Tl
(©) (A) SR (B) A (D) & ICd
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The proteins encoded by which gene control corn borer ?

(A) CryIAc (B) CrylII Ab
(C) Both (A) & (B) (D) CryIAb

5. HH-71 XA 8 ?
(A) 7 (B) & et
(C) iR I iR ISl (D) "X
Which is a dipteran ?
(A) Beetle (B) Army worm
(C) Tobacco bud worm (D) Mosquito

6. DIF-H1 57 Hig T B A & 7
(A) TSI THR U (B) SI<g S&M
(C) U Iam (D) T § &3 T

Which is a part of in situ conservation ?
(A) Wildlife Safari Park (B) Zoological Park

(C) National Park (D) None of these

7. A U S FAeT wOdl [ URERE BT 1 SEEIT § ¢

(A)  FERfSE B) @t

(C) TRoffer (D) HEUHIRAT

Interaction between sea anemone and clown fish is an example of :
(A) Commensalism (B) Competition

(C) Parasitism (D) Mutualism

1231/(Set : D)
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8. LH (Toud) fhe T R &l © ? 1
(A) ST IR (B) Wl RN
(C) (A) X (B) A (D) T
LH acts on :
(A) Leydig cells (B) Sertoli cells
(C) Both (A) & (B) (D) Spermatogonia
9. &l § 4y I e} HH-|1 A FT B B ? 1

(A) LH (B) FSH (C) ot (D) I |+
Which hormone is secreted by Pituitary gland in human female ?
(A) LH (B) FSH (C) Oxytocin (D) All of these

10. Frfaiad & & @M-a1 5 & GURE 787 ain ? 1
(A)  aferEaTRa (B) ewEfyen (©) Srex (D) arex-feret
Which of the following is not pollinated by water ?
(A) Vallisneria (B) Hydrilla (C) Zostera (D) Water-lily

11. sowege fFd W 8ar & ? 1
(A) mRNA (B) tRNA (C) rRNA (D) DNA
Anticodon is present on :
(A) mRNA (B) tRNA (C) rRNA (D) DNA

12. TqFH fhae eEgeM d6 9 aEadN 9 §er 2 g ? 1
A 1 B) 2 () 3 (D) 4
By how many hydrogen bonds guanine is bonded with cytosine ?
(A) 1 (B) 2 € 3 (D) 4

13. FfaRad § & HF-A7 SRUAT didrRsl TEaamd STRGAY (rRNA) (28s, 18s d 5.8s) &I
ST &Y 5 7 1
A) 1 (B) 1I (C) I (D) TTH ¥ iz el

1231/(Set : D) P.T.O.
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Which of the following RNA polymerase transcribes rRNAs (28s, 18s & 5.8s) ?

A) 1 (B) 1I (C) I (D) None of these
14. % f&X]@ SIGT & 15% W€ o 369 fhae sfas a@E 8mm ? 1
(A) 15% B) 25% (C) 35% (D) 45%

A double stranded DNA has 15% cytosine. What will be the percentage of
thiamine in it ?

(A) 15% (B) 25% (C) 35% (D) 45%

797 @& 15, 16, 17 09 18 7 q-§ #97 Ry 77 & : oifymerT (A) oiiv & (R) #F Ry 7@
FYgFT [Al FT TIT FXa gY F9 & Y g -

The question nos. 15, 16, 17 & 18 given below consists of two statements each :
Assertion (A) and Reason (R). Answer the questions by selecting the appropriate
option given below :

15. SIHE (A) : 519 W Bl JHIAC JTarST et & e & gl 1
HROT (R) : Sg Neanfia § ity dieee & qifsa Redt @ e ug fauern & B
o
(A)  SIRrEwET (A) 3R HROT (R) AMT T & T BROT (R), SIEH (A) & 9 & R

(B) SIRREA (A) AR FRO (R) 3T T § Tg BR (R), AHT (A) B el aren Tel
2l

(C) IR (A) § & W=j BT (R) 36 ol

(D) SAR1FET (A) Td BRI (R) A1 & 36 2l

1231/(Set : D)
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Assertion (A) : Biotechnology started with development of recombinant
molecules.

Reason (R) : Biotechnology mostly involves in cutting & pasting of desired parts
of DNA.

Options :

(A) Assertion (A) and Reason (R) both are true and Reason (R) is the correct

explanation of Assertion (A).

(B) Assertion (A) and Reason (R) both are true, but Reason (R) is not the

correct explanation of Assertion (A).
(C) Assertion (A) are true, but Reason (R) is false.

(D) Assertion (A) and Reason (R) both are false.

16. AREHIT (A) : SEIBIT T TR P UESEl § off SRR & JFRar 9 gsbiva Hifdmeeett g
fafifa 2ar 2 1

PR (R) : 3TTHUA 91T & ©&F W G S A0 B &
fapeq -
(A)  AREE (A) 3R HROT (R) AMT T & T SR (R), SIHET (A) H &l e 2

(B) SIRREA (A) AR FRO (R) 3T € § Tg BR (R), AHT (A) B el aren Tel
2l

(C) SIRHEA (A) §@ & Wy &RV (R) 96 3

(D) ST (A) Td BT (R) IS & T8 2
1231/(Set : D) P.T.O.
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Assertion (A) : Interferons are a type of antibodies produced by bacteria
infected cells of the body.

Reason (R) : Interferons stimulate inflammation at the site of injury.
Options :

(A) Assertion (A) and Reason (R) both are true and Reason (R) is the correct

explanation of Assertion (4).

(B) Assertion (A) and Reason (R) both are true, but Reason (R) is not the

correct explanation of Assertion (A).

(C) Assertion (A) are true, but Reason (R) is false.

(D) Assertion (A) and Reason (R) both are false.

17. AR (A) : AT WA SEhar Ghd MG Scahar § S S 2l 1
HRT (R) : AT AIHE ICRHAT H Th AT 9969 & QN SR &l Sl 8l
o
(A) STEEE (A) X BRI (R) AMI T & a1 SR (R), SIS (A) 3 98l e 2l

(B) IR (A) AR HROT (R) IHI G & g &RV (R), AHRIT (A) H TeI e el
2|

(C) SIRFEA (A) §W@ & Wy &RV (R) I8 B

(D) SIR1FET (A) Td BRI (R) A1 & 36 2

1231/(Set : D)
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Assertion (A) : Net primary productivity is greater than gross primary

productivity.
Reason (R) : A part of net primary productivity goes waste during respiration.
Options :

(A) Assertion (A) and Reason (R) both are true and Reason (R) is the correct

explanation of Assertion (4).

(B) Assertion (A) and Reason (R) both are true, but Reason (R) is not the

correct explanation of Assertion (A).
(C) Assertion (A) is true, but Reason (R) is false.

(D) Assertion (A) and Reason (R) both are false.

18. SIFEHET (A) : 3T TF SAfUsiisgd ol 1
FHROT (R) : 2 didt () & 9 & 9T Sie
forpeq

(A) SIRrEwEE (A) 3R HROT (R) AMT T & T SR (R), SIESH (A) & 9 & 2

(B) SIRREA (A) AR FRO (R) 3T € § Tg BR (R), AHT (A) B qel aren Tel
2l

(C) IR (A) § & W=j BT (R) 36 ol

(D) ST (A) Td HROT (R) IS & T8 2

1231/(Set : D) P.T.O.



19.

20.

(10) 1231/(Set : D)

Assertion (A) : Heroin is an opioids.
Reason (R) : Heroin is obtained from Poppy plant.
Options :

(A) Assertion (A) and Reason (R) both are true and Reason (R) is the correct

explanation of Assertion (4).

(B) Assertion (A) and Reason (R) both are true, but Reason (R) is not the

correct explanation of Assertion (A).
(C) Assertion (A) are true, but Reason (R) is false.

(D) Assertion (A) and Reason (R) both are false.

gug - §
SECTION - B

TG TS {Yge 9491 8 & 7 2

What is detritus and decomposition ?

BRI SHEEA 964 & PHROT 1 & 7 2
What are the reasons of rise in our population ?

AYAT

OR
=T dfer e TSl & W ffaw A B seR e § qer © ?

Name various copper releasing IUDs. How do these help in contraception ?
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22.

23.

24.

25.

(11) 1231/(Set : D)
YT U [ BIT & SR WO ©9 § U1 S ol 36 ARG SR H AT FM S P2

What is the genetic basis of proof that codon is a triplet and is read in

contiguous manner ?

{Yar
OR
AUG &l 380 1 1 8 ?
What is the dual function of AUG ?
g5y {6 Hews Afmet & M R 2

Name various male sex accessory ducts.

IR (TgwiEd) R Fed ¥ 7 36e B & Saex ffau 2

What is Aneuploidy ? Write any two example of it.

SO ISTEl M & A fRaT) g6 g H QIEReT M & g8 | R e © 7 2

Name first transgenic cow. What is the advantage of its milk over natural cow
milk ?

T 89 ¥ Safafqydr @ &y & 1 999 B & ? 2

What is the impact of loss of biodiversity in a region ?

1231/(Set : D) P.T.O.
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g -9
SECTION- C

26. Uh (ORR YO HIL B THihRT E TIEY

Draw a well labelled diagram of fertilized embryo sac.

27. UG ArpER & S W & H gewEye fafter @ ¥ e
What are the important defence mechanisms in plants against herbivory ?

28. el Ui & Ol gl & 9r ° fafau

Write about various barriers of innate immunity.

YqT
OR

deTg & AN & EMNHREG T H1 8 § 7

What are the harmful effects of using tobacco ?

29. AU FH fafre Wl W 5 TSR Her S 9%ar & 7

How can DNA be cut at specific locations ?

1231/(Set : D)
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UC

OR
g & di7 e ST &5 HH-9 © 7

What are the three critical research areas of biotechnology ?

30. HFRUAT U I, 11, 11 % & ffau 3
Write down the role of RNA polymerase I, II, III.

gug - g
SECTION -D
31. QTR & TR0 B Th oS daed e R @ 31 599 gaiag fefaie gt
% JA¥ N -

Schematic representation of the steps in PCR is shown below. Answer its related
following questions :

@Hent (a)

T T T T T T
™~
5 A
o | RS | 11111 |

(B)

g
+ deoxynucleotides

1231/(Set : D) P.T.O.
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(i) G B FR T
What is the functions of PCR ?

(i) B ®H TEEY S 360 TEENS &9 7 8 7
Identify B and what is its chemical nature ?

3TerE
OR

CHFN e ? I8 %9 ofig ¥ urg &ar 8 ?

What is C ? Name its source organism.

(i) A X D =R & W TR

Name the step of A and D.

32.
Electrodes
To vacuum
-« Spark

Condenser

= <€—Water in

Water drop

Water cont
organic com

Liquid water in trap

1231/(Set : D)
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R & WM & IueEd o &t afag iR Frefafed sedt & SaX dRm ¢

See the above diagram of Miller's experiment and answer the following questions :

(i) g ad & BeR 3 I8 WA e ? 1
In which year Miller performed this experiment ?

(i) SN B TA P 9% AR H b &N 3@ T FHrEfh ARTh B AW Ry 1
Name the organic compounds observed by him in liquid after running the
experiment.

(iti) IH YREBET B qaARY B BT 7 SW RT 10 Ges S geEdr § SN ¥
EAS GO R I CR 2

State the hypothesis which Miller tried to prove in the laboratory with the
help of setup of experiment given above.

3TeE
OR

59 AN § BF-H-A N R § ql s 7

Which gases were used in this experiment ?

qug -
SECTION - E

33. gFa ¥ g 9N i AR e faert @ e w] 5

Describe various chromosomal disorders found in human beings.

3TeE

OR

HIET FHE B AU Bl

Describe transcription unit.

1231/(Set : D) P.T.O.
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34. Al Ud USEH % SN S § gewsial Bl i B quie i 5
Describe the role of microbes in the production of Industrial chemicals and
enzymes.

SEE|
OR
TR IR F gEShar B G #@ avE i

Describe the role of microbes in household products.

35. WFEHY %l G # O & guie S 5

Describe the structure of pollen grain in detail.

7T
OR
qa § g & S § A (3FAICYM) % B AW URaaHl (SEarat) & e it

Describe the changes take place from the formation of zygote to implantation in

human.
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